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1. If zz = |z + @ |, where z = x + iy, i = J— 1, BF 10k Biind O a6 square matrioes of oy
tgnthe lootR Yz s a peir oty and det(BC) = 2 det(A), then what is the
(a) straight lines valuo of det(@A-1BC)?
(b) rectangular hyperbolas @ 16
(c) parabolas -
(d) circles
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9. If1!+3'+5!+ 7+ .. +199!is divided by 24, @ 9 :
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R . 2n+5 then
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0 § 4 1
8. IfA=|-8 0 rt, thon which oo of the | 11+ Lot by, ta, tg . be in GP. What is(ttg . to)t
T =5 a0 equal to ?
following statements is corroct ? @) . tic
(2)  A? is symmetric matrix with dot(‘Az) = 0. 9
(1 A2 is symmetric matrix with det(;‘\z) # 0. ® by
(@ A% is skew-symmetric matrix with | © tn
det(A%) = 0. @
@ A? s skew-symmetric matrix with
detiA w0, 12. Which one of the following is a square root of
2.0 0 o =y=17?
9. IfA= 8 i Z , then which of th‘e following @ 1+
statements are correct ? (b) 1J_§L
1. A™ will always be singular for any| . 3
positive integer n. (c) 5
2. A" will always be a diagonal matrix for 1.
any positive integer n. (d) ‘E‘
3. A™ will always be a ‘symmetric matrix ‘ o
for any positive integer n. . 18. What is the maximum number of points of
Select the correct answer using the code given intersection of 10 circles ?
below : (a) 45
(a) 1and2only (b) 60
(b) 2 and 3only (© 90
(c) 1 and 3 only (@ 120
- ‘ AN . 14° A set S contains (2n + 1) elements. There are
10. If (a +Db), 2b, (5 + ¢) are in HP, then which 4096 subsets of S which contain &t most R
one of the following is coﬁect ? elements. What is n equal to ?
(a) a,bandcarein AP' . (a) 5
(b) a-—b,b—cand c—aareinAl?~ (b) 6
(¢) a,bandcarein GP ‘ @ 7
(d) a—b,b—candc—aarein GP @ 8
(5-A)
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x2+8% x-1 x+8 1. 0 0
5. If| x+1 —2x x-4 18. IfA=|0 1 0], then whatis
x—-3 x+4 38x 00 1
i « « : 3 _— ) A 2 i § y
= ax? + bx® + ex? + dx + o 28A3 — 19A% — 4A equal to ?

then what is the value of e ? (n) Null matrix of order 3

W (b)  Identity matrix of order 3
b O 2o 0]
| ' . @ (020
} 2 . ! LO 0 2
! \
@ 2 ~ 7 0 0]
‘ \ @ o7 0
0 0 7]

16. If all elements of a third order determinant

afe equal to 1 or — 1, then the value of the |19. The value of the detérminant of a matrix A of

e : ) ¢
determinant is : order 8'is 3. If C is the matrix of cofactors o

‘ the matrix A, then what is the valug of
(a Oonly e .

‘ i s determinant of c%9
(b) an even number but not necessarily 0

(a) 3
. odd number .
(f:) an ! o o
(d) 0,1or-1 % ‘81 |
@ - 729 .
2 -1 0 i \ k-1 ‘ K : h e
17. IfA=|-1 3 0}, thgn what is the value |90, = If Ay = [k b5 Ha 1], then what 1
! i ! 5 det(Al) + det(Ag) + dét(A3) + ..+ det(AlOO)'
of detladj(adjA)] ? - palto?
(a o (a) 100
(B 2B v * A 4tk L &) 1000
© 125 (@ 9900
d) 625 | : (d) 10000
( :
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8. R WH R TEYd & ST R |
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(a) Fad 1 @ Had 190K 2

(b) HIA 2 (1) Had 23k 3
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Wﬁ?ﬁ&»‘dﬁﬁﬁ@?ﬁﬂ'ﬁ? ?
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among which are (0, 2) and (1, 8), Which of {ho
following statements is/arc correct, ?
1. It is possible to determine set A,
2. Ax A contains the element (3, 2),
Select the correct answer using the code given
below :
(a) 1lonly
(b) 2only
(¢) Both1land?2
(d) Neither 1 nor 2
22. Let A = (1, 2, 3, ..., 20}. Define a relation R
from A to A by R = {(x, y) : 4x — 3y = 1}, where
x, y € A. Which of the following statements
is/are correct ?
1. The domain of R is (1, 4, 7, 10, 13, 16).
2. The range of R is (1, 5, 9, 13, 17).
3. The range of R is equal to codomain of R.
Select the correct answer using the code given
below :
(a) 1only
(b) 2only ¢
(¢) 1land?2
(d) 2and3
DFTK-S-MTH
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Congidor tho following statemoents

1. Thoe relation { dofined by

w0 ‘ap
() = {x’, 0=xz

52
“ ig a function.
4%, 22x28

2. The relation g defined by

2 <x<
g(x):{x’ 0=z=x=<4

" ig a function.
3x, 45x28

Which of the statements given above is/are

correct, ?

(a) 1only

(b) 2 only

(¢) Both1land?2

(d) Neither 1 nor 2

Consider the following statements :
1. A=AUB)UA-B)

2. AUB-A)=(AUB)

3. B=(AUB)-(A-B)

Which of the statements given above are
correct ?

(a) 1and2only
(b) 2and 3 only
(¢) 1and 3 only
(d 1,2and 8
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1y)
ST fly) # 0. 3 £1) = 0-5,
f(2) + f(3) + f(4) + f(5) + (6) Teordh =T B 2

15

(a) 5
17

h =

(b) 3
29

(ch E‘I
@ 3
64

26. 2 cot[% cos™! g} e T 2 2

(a -1

(b) 1

(0 3+45
@ 3-+5

27. 3afe sec™1p — cosec 1q = 0, aﬁp >0,q>0; ar

Pre-university & School Ps PD
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&

29.

30.

U Wy i

(a) f—g .

(b -157—

© =

@ g |

Ifg tan (1 cos 6) = cot (n sin 9), 0<06< g,?ﬁ

8sm2(9+§)wmw%?

(a). 16
(b) 2
(e =1
1
e U
(d) p

ﬁtana:l, sin =i'0<a E
7 B Jio’ ,B<2,?—ﬁ
cos (0. + 2B) T HF T & 2

pP2+q 2 FIAA RIS 2 @) __;_
vl b - L
b) 2 )
© 3 © =
@ ﬁg— @ 7
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25. A function satisfiles flx—-y) = ZE_X; ,|28. Whatis 1+ sin? (cos_l(_D cualto.?
y

where f{y)#0. If f{1)=0'5, then what is

f(2) + f(3) + f{4) + £(5) + f(6) equal to ? &) i—g

@) g ® =

®) %% (©) %

© = @ 2 '
@ =

i
929. Iftan (m cos 0) = cot (msin 0), 0 <6 < 5; then

. 0
what is the value of 8 sin? [9 + Z) ?
: 1 _1 Vb 1to ?

26. Whatis 2 cot 3 cos 3 equal to ?

(a) 16
(@ -1 (b) 2
®d 1 o @ 1
© 3++5 ‘ @ %

@ 3-+5

T
—1—;0<0L, B< =,

,.sin[3=‘/i_0 2

then what is the value of cos (o + 2) ?

‘|g0. If tan o =

S| =

27. If sec'lp — cosec 1q = 0, where p > 0,q >

1
then what is the value of p 2+ q?2? (a) ~— 5
1
(@ 1 W =
b)) 2 . 5
© = 9 7z
2
1
o = @ 3
(GY) 272
11-A)
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34. ﬁw%ﬁaaﬁéaﬁmm@mﬁm.nm.ﬁ%

AT STT T 7 (02) 977 3 forw Aerfena o
faem #ifer | .
Hrﬁm(l—x)4+(5—x)4=82qtﬁwmq, @ oY
S Tl 3 At qeit i wen w1 2 ® -o
(a 0 © -o?
(b) 2 @ o
() 4
@ 8 85. FHISHOLI R FHU-II & T9H el =1 ST
?
32. TRl & Wt well w1 et w2 2 i
(@ o0
(a) 24 BEE
(b) 12 .
(c) 10 @& &
@ 6 B '

‘ AT AT AT F(02) W F forw At
ST AT AT T (03) Mo % Forg Fmfriee w| frem S ‘ " -

fareme #iforo
T fouma g, (@a+b)x®>—(a+b+c)x+k=0

RO 28 + 222 + 22+ 1=0 3R mﬁmwé,ﬁﬁa,B,cW§l

GHIRLIL : 21985 1 7100 4 1 = 0 W famw Hifd |

33. GHiH-1 % g T § 2 36. ?Tfik=-;—,(c¢0),a‘rmﬁ${wé;®§;

2
@ Loo (a) drfas 3k o
2
il Flite (b) AR 3R s
2
(c) ITEfa A 3R Faer afe a > o

¢ 1,-0,0

i @) I, W rfe @

(12-A)

d -1,-0,-o
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Consider the following for the next two (02)

34. Which one of the following is a root of
items that follow : ;

equation-ﬂ ?
Consider the equation (1 — x)* + (5 — x)* = 82.

(a) -1
31. What is the number of real roots of the (b) -w
equation ? () 2
@ o0 @ o
(b) 2
35. What is the number of common roots of
e 4
equation-I and equation-II ?
@ 8
(a O
32. What is the sum of all the roots of the b)) 1
equation ? © 2
(a) 24 @ 3
b) 12
(e 10 Consider the following for the next two (02)
@ 6 items that follow :
A quadratic equation is given by

Consider the following for the next three (03) @+b)x%—(a+b+c)x+k=0, where a, b, ¢ are

items that follow : real.

Consider equation-I : z3. +222 + 22+ 1= 0 and

equation-II : 71985 4 2100 +1=0. 36. Ifk= %, (c# 0),. then the roots of the equaﬁon
33. What are the roots of equation-I ? are: |
(@ 1,0, o? (a) Real and equal ‘
® -1,0,0? | () Real and unequal
© 1,-0,n? L (¢) Realiffa>c
@ -1,-v,-on? D (d) Complex but not real

B ~A
DFTK-S-MTH (13-A)
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ST o e @ (03) 5wl & oy Rl v

87, qﬁk:c,ﬁﬂﬂw%'{@%:_
R #ifer:

a+c b

(a)
Y3 +b a+b |
AT AR ) = x? - 1 8l pOl(x) & x = /x4 1,
b 2FC gD
a+b a+b
| A Rl A s ww goo % foro i
(@ 13k ¢ ‘ :
a+b RSTh % ?
d -13R- cb @ e B
a+ v
3777}317#37#877(03) vl & fary A w M) Vx4l = Y1 41
" : | ©  Vx+T + YT
ol @ x+1-Jx+T+1

A +2)% =1+ Tyx + Tyx? + Tgx® + .. + T, x".

. 42.  g(16) frad 8y
/38 Ty +2T, +3Ty +... + 0T, fhesh suan 2 2 e TR R 7

@@ o (a) 1
b)) 1 (b) 2
() 2¢ () 8
(d) n2e-1 ) 4
389. 1-T, +2T, — n
\ W%? 9 = 8T5 + ... + (=1) nTHWW”WﬁW?(M)W%ﬁWﬁWW
(a) o0 | ﬁwaﬁﬁq
(b) -—2n-1 | T T R-(0) W oaRifE R e
. (¢) non-1 2f(x) + 1(%) =x+38.
d 1
40. T1+T2+T3+...+Tnﬁﬂ:{§;awg? 43, KO'B)WW%?
(a) 2n (a) %
(b) 2°-1 o 2
(e 28-1 8
@ 2041 © 1
d) 2
DFTK-S-MTH (148
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Ifk = ¢, then the' 4w . :
&n the roots of the equation are : Consider the following for the next two (02)
items that follow :

(a) a+c an b
a+b a+b

Let f(x)=x2—1 and gof(x) =x — Jx +1.
®) a+c and b

a+b ‘a+b

|141. Which one of the following is a possible

(¢) land — expression for g(x) ?
a+b

(a) Jx+1 - Yx+1
d -1 and — S

i B  Vx+l-Yxel 41
‘ o e T 4_ AL : -
onsider the following for the next three (03) © v+l + Vx+1 b
'ems that follow : v @ x+l-Jxei+l e
et (1 +%)% =1+ Tyx + Tox? + Tgx3 + ... + T, x°, e e e s ¥ " e

n

42. What is g(15) equal to ?
8. Whatis Ty + 2T, + 3T3 + ... + nT, equal to ? e

@ 0 (a) 1
a

® 1 ®) 2
© 20 = © 3
(@) ngnl @ 4

39. ‘What is.1 — T + 2Ty — 3T3 + ... + (-1)°nT, | Consider the following for the next iwo 02)
equal to ? '

items that follow :
(a) .. 0- _ Let a function f be defined on R-— {0}‘. and
b) —gn-1 211x) + f(%) o e
(¢ n2n-1
@ 1 S 43. What is f{0-5) equal to ?
1 VP
40. Whatis Ty + Ty + T3 + ... + T, equal to ? (a) D)
@ 2n (b) %
b 22-1
© 1
() 2on-1
‘ @ 2
d 2r+1
DFTK-S-MTH (15-A)

Resonance Eduventures Ltd.

Reg. Office & Corp. Office : CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.) - 324005
M. No.: 7728890131 | 7728890101 |
To Know more : | Website : www.pspd.resonance.ac.in | E-mail : pspd@resonance.ac.in | CIN : US0302RJ2007PLC024029




Resonance®

Educating for better tomorrow

44. IZ (FEFEAE 2, 9 005 Bas w22

N b

& 2
>
>

(&) 2

(dy 4«4

Z=rr % -

Pre-university & School Ps PD
Preparatory Division ,1

HTT T FTer 37 (02) FFAT & 178 [AFTorfa of
%Wﬁi%?: F
T fF a2 +y2 =0.

47. y T AyHaq TH F=T 3 ?

(a) &
2
() 3
(0 4
@ 6

48. xy ST ATHad AH A1 2 ?

(a) g
®»
(c) g
@ g

HTT HTA FTE @1 (02) FFAT & Iow [REfena w
I%Wﬁﬁl?‘
@Wﬁx}=n+sm2xmmﬁ'ﬂ% |

49. 39 Ho $ THX R 7 ?
(@ [0,1]
(b) [m,m+1]
© [m-1,m+1]

d [r-1,n-1]

50. ¥H HOH I FTFdhIS 41 @ ?

(a) 2mn
(b) =
T
(C) 5
(d) IE BoH ST 2

z=1 2 3
UE T fim)=| 2 x4 6 | g 9ieag
3 6 x+9
21
(‘
45. <z En ZIEHH %
28
( =
a) [3,0_‘3(
(b) [@ﬁl’ﬂ
3
(c) [O,@]TK
3
6
d 0,—| I
(d) [ 3]
46. I BoH TAMIE =HaH HHE I HLdT 8
28
=—
(a x 3
(b) x=—1
(@ x=0W
28
d x=—T
() 3
(16

DFTK-S-MTH
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P

Iffis dif‘ferentiable, then what is f’(0-5) equal

1
@ 4
2
® 3
() 2
4

or the following for the next two (02)
s :

s that follow :
ynetion 18 defined by
x+1 2 3
fx)=| 2 X+4 6
T 6 x+9

The function is decreasing on :

Resonance®

Educating for better tomorrow

Pre-university & School
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PSPD

Consider the following. for the next two (023
items that follow: G

- &
- -y
w4 RN

Given that 4x2 +y2 =09,

47. What is the maximum value of y ?
3
(a) 5
() 3 '
(e 4
@ 6
48. What is the maximum value of xy ?
9
(a) n
3
b =
( ‘) 2
4
() §
2
A~
: .) 3

Consider the following for the next two (02)
items that follow :

A function is defined by f(x) = 2

T + sin“ X.

49. - What is the range of the function ?
© [ , %} @ 10,1
(b) [mn,m+1]
56 '} .
@ [—3_] © [m—1m+1]
@ [r-1,7n- .1] ,
. local minimum value at -
e ﬁmcmoq . 50. What is the period of the function ?
28 .
@ x=- @ 2n
(b) 1 b) =
) i }
S 4
(0 x=0 () 2
@ x= bl ~(d) The function is non-periodic
3
OFTK-S-MTH - (17-A)
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AT ST AT 7 (02) FEH 5 fyy AT T -

e #if5: o 54. Iin} f(x)g(X)mW%?

?W“’M‘Hm%aﬂzmm (@ +ab
2

d“i‘?y’”"’”(’ﬁﬂﬁ‘?aw%l ()  ab
(e) 2ab
Jab
@ 5

51. wm‘aﬁﬁww%?

(a) y=_21
’a.y 8 anv}alﬁmﬁ?é’?(w)mé"’%’?ﬁ'q%
, S y=1 faremt #ifsre:
,l 1 ' 8 maﬁ'ﬁ%{qﬂx)=ﬁ—x+J2+x.
| / @ x=-1
‘ 8 55. 39 B 1 J7d T 8 2
@ x:sl @ (2,2
- | . b) [-2,2]
: gﬁ)?{aﬂa%m@m@mmw (0 R-(-2,2
' (d R-[-22]
(@ 1 , Pk
: 56. T8 % T AfUhad W = R 9
b 1 '
2 @ 3
| (© % ® V6
@ I 9. V8
g 8 @ 4 i
'f : 3T T 3 (02) TvaF 3 Ay ¢
{ '
| i i W;anwa}m’m%%vﬁwﬁ@m
L A ARG fro = 2+ b T e
R ( =X f(X) .
2 gx) =x-1 e & lxlaﬁtg(x)—[x]—lﬁ'a'[[]i{éﬂq
f(x)-1
58 il-lﬁ ;(X) T g 2 m?”ﬁﬁfq h(x) = f(g(x))
: . g(f(x))
(a) In(ab) 57.  lim h
4 ey (x) ﬁ*ﬂ%w% 9
®) Inab)
2 ) (a) ‘2
/s () In(ab) b)) _4 ‘ ‘ ‘
(d 2iIn(ab) © o L:
DFTK-S-MTH @. 1
(18-A) ‘
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",,,'dar the following for the

next two (02
ne hat follow : y

jrabola passes through (1, 2) and satigfies the

rcrcntiu] equation dy - 2y

dx T’X>O,Y>0,

What is the directrix of the parabola 2

(a) }’=—-14
8
o y=3
(c) x=——;-
) x=%

—vhondl
.

parabola ?
(a) 1
» 2
() —}
@ 3

What is the length of latus rectum of the

T ;

54. What is lim ()% equal to ?
Z=y).

(a) ab
(h) ab
(¢) 2ab

b
(d) 3/—_;——

Consider the following for the next two (02)
items that follow :

Letf(xj: J2-x% + 1/24—}*:’,

55. What is the domain of the function ?
@ 22
b [-2,2]
(¢ R-(-2,2)

(@ R- [—’2, 2]

s

56. What is the greébest value of the function ?

@ 3 I
b 6

() «/5

@ 4

onsider the followiné ftl)r the next two (02) Consider the following for the wo (02)

tems that follow :

-1 -1 )
et fix) = a® ;bx and gx)=x-1
58.  What is lim £ -1 equal to ?
' xo1 g
- In(ab)
(a) 7
In (ab)
(b) :
(¢) In(ab)

@ 2In(ab)

items that follow :

Let f(x) = |x| and g = [x] — 1, where [.] is the
greatest integer function. :

=
Let h(x) = i:(gfgx;; :
57. Whatis xl-i~>10n+ h(x) equal to ?
(a) -2
(b) -1
) 0
@ 1

(19-A)
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5. lim hex) e T @ 2 mﬂﬁaﬁ}a}mww#ﬁwﬁh%r
foremy &ifT:
(a) —»9 | |
(h) 1 ‘ . : ¥ s,in4x+cos4xdX "
© o —92n {
@ ' m |
: 61. f (sin4x+cos4x)dx mm%?
T o Gr =
rL . | T 31 (02) SR 3 forg Ao 8
9 e Hifery. _ o
b)) —
4
X — 3 -' 7
[x=3] "% . %<3 2 © | 3 .
.| x-3 | | @ 3n
v:‘;‘?j T m+b; x>3 z ;
fj f) Fq T 1R x = 3 | 62. I fopws sre & 2 |
,3 , , | @ o
1B g 4‘ o = | |
[ 1l : . |
-l ' : \ |
E @ -1 : (e) 3n |
| i , , 2 r
1 b)) .1 : (d 3=x 1
f £ it | J
| Lo ) ] 3’7’3‘347#37#3?(02)37?#@; |
§ | - ey #Hiforo. %Fﬁwﬁﬁawi
;i d- 3 ‘ ! |
| |
| m?ﬁﬁqﬁ}()z{ax(x'*'l)'*-b, x<1 |
‘ i ) x-1, 1<x<2
. 60. baﬂ”ﬂﬂqiﬂﬂ%? ) / 63 |
( ) N e ;ﬁwﬂX),lemwa%’a(a+b)
1
© 2 | b —1
(
@ 3 © 0
@ 1
DFTK-S-MTH
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What is hm h(x) equal to ?

Resonance®

Pre-university & School
Preparatory Division

PSPD -

Consider the /'ollowing for the nexl two 02)

x—0-
items that follow :
B 2n
“ i gin? x + cos® x dx
e = .[ 1+ 8%
(b) . -2n
s in% 45)dx equal to?
61. Whatis J‘ (sin” x + cos
d 2
3
(a) 5
Consider the following for the next two (02) -
b) —
items that follow : ( 7
3n
©y -
2 3 I +a; x<3 2
b
l (d 3m
Let fx) = —b; x =3 and
isIequal to?
=8 +b; x>3 62. Whatis q ’
| x — 3| L g
fix) be continuous at x = 3. . .
( 4
59. What is the value ofa? Y Y
. (o) —2—
(a) -1 i
S Consider the following for the next two (02)
items that follow :
S ax (x + 1)+ b, x<1
Latflx) = x -1, 1<x<2
@ 3
fb? 63. If the function f(x) is differentiable at x =il
e i 1 e then what is the value of (a + b)?
1
C e @ -3
(b) 1 b -1
© O
() 2
@ 1
a 3
(21-A)
DFTK-S-MTH
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x_)o LI TN G
@ -3
[»]
® -2
5}
@ o0
(@ 1
65. AR fix) = |in|x|| &l 0 < x < 1, A £05)
T B ?
(a) -2
-1
¢ o
@ 2
66 'q'% fl(, 2X—3
: x) = cos (In x) AR y = f] =
b ST 8 ?

(a) cos (ln(zx . 3)}
X

® - sin(ln(zx = 3))
X

69.

@

T dx

Pre-university & School
Preparatory Division

Ubl

PSPD

X E [=1, 1] b IclY, dsb ((x) = x| x| TG x-37&T §

R & =1 &wer = R 2
(a) §
® 3
(c) %
(d) %

2
S 4
ahd Gt xz(——d yj +(—Syj +sinx=0
X

dx®
W Ife SN ure shww: T E 2
(a) 3,4
(b) 1,4
() 2,2
(d 3,2

X
© %cos(ln(zxx—3)) 70. y? =4da(x —b) YhR & Gt Wacdl *1 Ghd
x o8 G R/ R 2
3 2x -3
d - —cos(ln( ))
x2 X (a) d_zy + (ﬂ)z =0
dx? dx
8n
67. f [sinx|dx T SRR § ? (b) gﬁzﬂz(g)z_ 0
dx? dx
0
(@) 2 © 23, (EX]Z 0
dx? dx
(b) 4
(c) 8 (d) ygz_y (glf 0
dx? dx
(d 16
DFTK-S-MTH (22-A)
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- 68.
; 1
(a 3
2
b)) - 3
e O
@ 1
5. If fx) = |in|x|| where 0 < x < 1, then what is
£’(0-5) equal to ?
(a) -2
by -1 69.
e O
@ 2
66. If f’(x) = cos(n x) and y = f(zx_s), then
. dy 0
what is — equal to ?
dx
(22
(a) cos -
3 . 2x — 3)
b)) - ;é- sm(ln( = ]
2x —3 70.
(© ;37 cos (ln( " )]
3 2x — 3
@ - =z cos(ln( > ))
8n
67. Whatis j- |sin x|dx equal to )
) .
(a) 2
b)) 4
(c) 8
. e (23— A)
DFTK-S-MTH
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tis lim f
What 18 xl_l_ff(l) (%) equal to ?

Pre-university & School
Preparatory Division

What is

f(x) = x| x| and x-axis for x € [-1,1]?

@ =2
® 5
(c) 'i‘
@ 3
What are
respectively

|

(a)
(b)
(o)

(V)

dx3
3,4
1,4
2,2

3,2

the

the

order

PSPD

area between the

and

the

curve

degree

of the differential equation

dx

2 4
d3Y] S (EX) +sinx=07?

\
\

What is the differential equation ?‘f all

parabolas of the type y2 =4a(x—b)?

(a)

(b)

(o)

(GY)

%y (
dx? dx
d%y  _o(dy
dx? L (dx
d’y  (dy
y2 dx? (dx
2
x2 dx

2
iz)zo

\
\

\
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72 Z a, fres s 2

( 3
£ Educating for better tomorrow Preparatory Division
I} Eﬁ&rq
A ta . 1828y T XERAPH 1
By 3.10 + a15 + a20 + g5 + ag +agy = 300. (b) - Z
1
71. 4 (o =
1+a5—a10—315_320_a25+330+a34 4
e T B 9 1
/ @ =
[@ o 16
/
(b)) 25
/

[ © 195 anﬁan#aﬁa%(oz)mﬁ%ﬁ,yﬁ :
[/ @ 250 fa=mre #ifso: |
/i
//

// 34 e Fﬁﬁrfq 1 tan3x
p = — -
72 3 tanx

n=]1
q=1-3tan2
(@) 900 " 0<X<H’X¢g‘
M) 1025
© 1200 75. pq fFad T § 0
d 1275 et
Wwﬁaﬁ#(oz)m%%v%ﬁféaw (b) 2
8
() °
- = cos cos(25nj 3R 3
8
_cos n cos(&t) @ - =
5] 3

73-_ P+ q 3 A RT3 2
Al 76. x¥ .
/ @ -3 X %a—lrmwha;m%w@m%?
/ 1
g 2 @ T ¥ R g
/ A
e 2 © ¥ g
DF---/ ~ RATI (d) %‘_‘r -0 - -
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qsider the following for
, N

the neat two (02)

{ap 8o 85 be in AP such that

+85 + 810 T 15+ R0 + Aoy + ag; + ag, = 300

. What 1S

N

equal to ?
@ O
(b) 25
(¢) 125
(d 250
34
2. Whatis Z a_ equalto?
n=1
(a) 900
(b) 1025
(¢) 1200
d) 1275

Consider the following for the next two (02)
items that follow :

4n 8n
20 g = con 22 os 55
Letp:cos(%)cos(—g—) andq—cos( = ]c 5

78. What is the value ofp+q?

Pre-university & School Ps PD
Preparatory Division

74. What is the value of pq ?

1
() - E
B, ==
( 1
(c) —‘11
1
(d) 16

Consider the following for the next two (02)

items that follow :

1 tan 3x -
B § T tanx

oA

q=1—3tan2 x,0<x<mx#

75. What is pq equal to ?

(a 1
b)) 2
(c) %
@ -3

1
76. For how many values of x does -}; become

.

zero ?
(a) No value
(b) Only one value

(¢)  Only two values

(d) Only three values

(25-A)

(a) - —12—
1
b)) - 7
(c) 0
1
(d) 3
DFTK-S-MTH
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mma’#??(oz) v & fre R

Rar F:
RIC
TR sin +siny = /3 (cos y — cos x);

X+y=Z gcxye &
2: -\,)<2.

77, SIn 3x + sin 3y 1 A FAT Y 9

(@ -1
® o
@ 1
@ 3

78. 3
C0S” X + cos® y T WM AT R 2

(a) %
8

b 36
8

36
4

@@ 1

()

ST 37 Frey .
A : #(oz)ma,-,%?ﬁw%aw

d) 2¢

80. a2:b2:c2%ﬂaﬂqﬁﬁ§?
(a) 2:2+ 3 .3
(b) 2:2- 3 .9
(0 2:2+"/§:‘2
@ 2:2_.73.4

DFTK-S-MTH
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81. qramyZ_libxa»’:tﬁamm%
i

& b<03M b2+b—-2=0?

(a) x+1=0 IC
7

(b) x-2=0 1

(02 x-l:O }'

d x+2=0 ;

82. 195 (—a,-b), (0,0), (a,b) 3k (x2 ab) -

(a) T & 99 W g §

(b) maﬁ%sﬁéﬁg%

(c) aﬂ‘ﬁﬁfsﬁ%

d) a3 '

|

83 Te T} f 16p2 *+49¢% - 42 _ 5y . o;
H 8 B O, T e

(px+q}’+l')(px+qy r) =

(a) (2, Z)
2

(b) ( _ZJ
2

©  (4,-7)
@ 4,7

84, !T['\qaﬁ-x +y~—25

0“@3&3%?

i
0 R TH Sfar &1 |

WﬁW3x+y—5=0%,FﬁGﬁmﬁ;WW.ﬁ§%

s . 4 7

(a) (§ i)
4’ 4

(b) (ﬁ 1)
2’ 9

(c) (§ __1_)
4’ 4

G) (§ _1)
N 22 2
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ider the followmg for the next 1o

(02) | 81.
s that ﬁ)llow
sinX + siny = \/§(cosy —COSX); X +y = &
T 2
, < — .,
O <X, y 2
What is a value of sin 3x + sin 3y ?
-1
(a) 82.
® O
c 1
@ 3
. What is a value of cos3 x + cos3 y?
343
(a) 8
6
) 5\8/_” 83.
3J6
(c) g
@ 1

onsider the following for the next two (02)
tems that follow :

The angles A, B and C of a triangle ABC are in the

ratio 3 : 5 : 4.
79. What is the value of a +b+ +/2c equalto? o
(a) 3a
(b) 2b
() 3b
@ 2c
80. What is the ratio of a2 :b2:c2?
@ 2:2++3:3
b 2:2-+3:2
© 2:2+3:2
@ 2:2-+3:3 ot
DFTK-S-MTH
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What; is the equation of directrix of parabola
y? = 4bx, where b <0andb? +b—-2=07

(a) x+1=0
b)) x-2=0
() x-1=0
d x+2=0

The points (- a, — b), (0, 0), (a, b) and (a2, ab)

are :

(a) lying on the same circle

(b) vertices of a square

(¢) vertices of a parallelogram that is not a
square

(d) collinear

Given that 16p + 49q — 4r2 — 56pq = 0.
Which one of the following is a point on a pa.u'
of straight lines (px + qy + r)(px+qy—T)=

@) [2, %)
7
(b) (2, = -2-j

) 4,-7
@ 4,7
If3x+y— 5 = 0 is the equation of a chord of

the circle x2 + y2 — 25 = 0, then what are the
coordinates of the mid-point of the chord ?

(a) (% i)
v (3 )
0 (&-
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k=19 3. wqawﬁa%@my:aq;fg%%,
2. I8 wfieRr sfiwaey w1 FEld 8 ST el F [ e w §
a-%k=12. (a) ??F»Gm@
8. W witww g9 = fiefd & § AR (b) had ql
k = 20, () aft =
STYE Fort F F forad w ¥ 0 (@ I ot T
(a) Fad TH 88. k%%nﬁ%%q}@
(b) Fad ar (k—3)x—(5—k2)y+k2—7k+6=0
© @t i |
(@ -1,1
d HiE ot 75 (b) -1,2
() 1,-2
@ 2-29 |
6. x? ; :
S o570 TmTg =1 ¥ M #[8% Wixiy o4 1 1) ik g ) I Sy
: el 3@ B R W e ; :
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L T % 0wy § | (@ 1:1
2;. 3ﬁ@?ﬁseceél ® 1:2
: ?ﬁﬁm% () 2:1
T A 20 2 3w | d 1:3
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a) w TG & T g 4 3 2 sik srhieE
B s _g‘j‘&‘ﬁ T % HIY 15° T H07 7
(o aftdiq (a) 8
@ b) 4.6
(© 8.6
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{ 29 A
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Consider thi following in respect of the | 87-
. x~ ‘,2
equation —- 4 _ 2 -
24—k © k-16 =
1. The equation represents an ellipse ,if
k=109. )
2. The equation represents a hyperbola if
k=12,
3. The equation represents a. _circle if
k =20.
How many of the statements given above are
correct ? '
(a) Onlyone 88.
(b) Only two )
(c) All three
(d) None
86. Consider the following statements in respect
2 2
of hyperbola X,, - _y,, =1:: 89.
cos“ 6. sin“ 6
1. The two foci are independent of 6.
2: The eccentricity is sec 8.
3 The distance between the two foci is
2 units.
ts given above are |90
How many of the statements g1
correct ?
(a) Onlyone
(b) Only two
(¢) All three
(d) None
~ (29-A)
DFTK-S-MTH
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Consider the following in respect of the circle

4x2 + 4y%2 —4ax—4ay +a® =0:

1. The circle touches both the axes.

2. The diameter of the circle is 2a.

3. The centre of the circle lies on the line
xX+y=a.

How many of the statements given above are

correct ?

(a) Onlyone

(b) Only two

(c) All three

(d ‘ None

For - what values of k is the line

(k—3)x'—(5—k2)y+k247k+6=0pa.rg.]lel
to the linex+y=17?

(@ -1,1
(b)) -1,2
e 1,-2
@ 2,-2

The line x + y = 4 cuts the line joining P(-1, 1)
and Q(5, 7) at R. What is PR : RQ equal to ?

() 1:1
(b) 1:2
© 2:1
@ 1:3

What is the sum of the intercepts of the line
whose perpendicular distance from origin is
4 units and the angle which the normal makes
with positive direction of x-axis is 15°7?

(a) 8

) 46
() 86
@ 16

Resonance Eduventures Ltd.

Reg. Office & Corp. Office : CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.) - 324005
M. No.: 7728890131 | 7728890101 |
To Know more : | Website : www.pspd.resonance.ac.in | E-mail : pspd@resonance.ac.in | CIN : US0302RJ2007PLC024029




DFTK-S-MTH

®
Resonance
Educating for better tomorrow
\91- | s | Lok S ANERN TR S U LI i |
@ -1
V17
® 2
V17
3
_(C) N
2
d
' T

92. AR (2 x b)2+(3 . b )%= 14430
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@ 3
(b) 4
()

@
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. (a)

(b)

(30—A)

96.
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(d PB=26 {
%,
!
i
.’
i

Frafafaa w foar fifse .
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1. What is the length of neat s -
A " " ength of py O.IOC:IOH of the vector
1 +2j 43k on the veetor 21 4 3']) _ 2]’(‘ 9
1
(a) ————r
J17
2
bh) =
J17
3
() —
J17
2
d =
V14
- -
92. If(a xb)2+(3 .b)2=1d4and b | =4,
then what is the value of | rYg | ?
(a) 3
) 4
(¢ b5
d 6
- -
93. If 0 is the angle between vectors a and b
such that a . b = 0, then which one of the
following is correct ?
(a) 0=<0O0=T
4
p) Z<osgm
(b) 5
() 0<6< 1‘2-
@ 0<6< %
DFTK-S-MTH

A A A A ,
94. "The vectors 60i +3j, 40i -8j and

95.

96.

(31-A)

A A
fi —=b62j are collincar if':

() =20
(b) p=40
(¢ p=-40
@) p=26

Consider the following in respect of the vectors
— —
2 =(0,1,Dand b =(1,0,1):

1. The number of unit  vectors
- -,
perpendicular to both a° and b is only

one.

2. The angle between the vectors is =

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2only

(¢) DBoth1and?2

(d) Neither 1 nor 2

If L is the line with direction ratios

<3,—-2, 6> and passing through (1,-1, 1),
then what are the coordinates of the points on

L whose distance from (1, — 1, 1) is 2 units ?
11 13 19 1865

(a) (—_a'—y"—) _:—"—')
7 ) Ty

(b)
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97. x;2=5:_1-_3=z_;3$mmm wh;mpaﬂxq-glaﬁ(p q)z—looooa?zq:'
T THGA & ? HE F8 ? :
@ ox+2y+z-1=0 @ 10 f
() 2x-y—2z+5=0 b)) 20 ‘
() 2x+2y—-2z+1=0 (e 50
d x-2y+z-1=0 (d 100

: : i |
98. YWIST 2x = 3y = — z 3N 6x = —y = — 4z 1= |102. IS 10 J&M x, xo, ..., X3 BT AT X = 20 @; %

10 : £ i :

& 3x. —4 i

ST IV 1 8 ? —(ﬁZ[XI mew%? :

: 5

(@ ©0° = :

®)  30° @ o
() 60° ®) 12 -

@ 90° © 112 3
(@ 1012

99. W Tiw w wiH@ w® ¥ S A S5
iy 122 9x—6y—8z—5=0F THN 2 103. I 10 Sl 1 qTeA SR A B ATHA HA:

ﬁtﬁmy* u@ﬁgﬁg}mmg«; 40@?16160%,?ﬁﬁﬁ$ﬁamw%?

(@) x2+y2+22-2x—8z=0 ‘ (a) 16 | ‘

(b) X2+y2+z2—2x—6y=0 (b) 6 s |

0 x2+y2+22—-6y—82=0 (¢ 5 |
d 4

(d) 15{2+y2 +22-2x—6y—8z=0

| 104, S T F1 et T 2 1 Ve A o A
100. firgall AQ, 2, 3) R B(2, 10, 1) T Site Tt I W & ST O 2

a1 W T fig PR | ARG P oMW 78, @ 17 - |
T 7= ) TS 1 ANToheT 41 § 2 @ Tos : I
5 )
. b == {
(a) 15 (b) T ’
b) -13 |
() © 22 g
(C) -11 108 ;
23 i
-9 d - 1

. @ o8
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Which one of the planes is parallel to the line
X-2 _y-3 z-4

3 4 5 ?
(@) 2x+2+2z-1=0
() 2x-y-2z+5=0
() 2x+2y-2z2+1=0
d x-2y+z-1=0
What is the angle between the lines
2x=8y=-zand 6x=—-y=—4z?
(a) ©0°
(b) 30°
(c) 60°
(d 90°
What is the equation of the
sphere  concentric  with ‘the ' sphere
x2 +y2 + 2% — 2x — 6y — 8z — 5 = 0 and which
passes through the origin ?
(a) x2+y2+z2—2x—8z=0
(b) x2+y2+zz—2x—6y=0
(© x2+y2+z2—6y—8z=0
(d x2+y2+z2—2x—6y—82=0

A point P lies on the line joining A(1, 2, 3) and
B(2, 10, 1). If z-coordinate of P is 7, what is the

sum of other two coordinates ?

(a) -15
(b) -13
(¢ -11
@ -9
(33—
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101. The sum of deviations of n numbers from

102.

103.

104.

A)

10 and 20 are p and q respectively. If
(p- q)? = 10000, then what is the value ofn?

(a) 10
(b) 20
(0 50
(d 100

If X = 20 is the mean of 10 observations
then what is the value of

X1, X9, -5 X100

10

Z 3Xi —4 9
5

i=1

a O

(b) 12

(e) 112

(d) 1012

If the mean and the sum of squares of
10 observations are 40 and 16160 respectively,

then what is the standard deviation ?

(a) 16
(b) 6
() 5
@ 4

Three dice are thrown. What is the probability

of getting a sum which is a perfect square ?

17
(a) FS
5
b) 2
®) 108
19
(c) 108
@ 22
108
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108, Gl 1, 2, 3, ..., 10 H Ty i

195. A B, © 3k D e sl st A T
e 7 o, °Cy, 96, g A g
) 98 ?

g AR opa) - 3P(B) = 4P(C) = 6P(D), al

TP s s 2 (a) 11x28
(@ 12 (b) 1:2x 71
(b) 15 (¢) 55

(© 20 (d) 055

@ 30

109. @&rﬁﬁ%%@ﬁméaﬁmgﬁ
106.1§9W@mﬁﬁﬁaﬁﬁww 0'8%'31?“@“7“&%”%%#%
Wmﬁt«ﬁw%lwmﬁw%ﬁﬁ ﬁmzﬁwaﬁmﬁﬁaﬁmgﬁ 5Wﬁ
ST 9

mwﬁmmﬁ 18?2 (a) 000512
@ L1

81 (b)  0-02048
(b) % (¢) 02048

@ o

© 1 0512

18
@ L

36 110. A s

T T T W ¥ wmy T

o e, %’?fr%"@wm‘rwfmwanmm
: %'Wm?ﬁwmﬁmg W@ﬁﬁmm%%laﬁm
I E PEPESS B eV

7
@ 3 TW%W%%% | AfE war @5 a3,
T TR & Ry
®m T gl 2 % @
) BATR 2
@ 2 (a) o
c) s a 010
36 (c) 0.45
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106. A, B, C and D are mutually oxclusive ang

exhaustive events,
If 2P(A) = 8P(B) = 4P(C) = 5P(D)
then what is 77P(A) equal to ?

(a) 12
(b) 15
() 20
(d) 30‘

106. Two distinct natural numbers from 1 to 9 are

picked at random. What is the probability that

their product has 1 in its unit place ?

1.3
81
kLS
72
S
18
1
36

(a)
(b)
(¢)

(d)

7. Two dice are thrown. What is the pr

10
that difference of numbe’rs on them is 2
@ o
® =
@ %
@ 3
DFTK-S-MTH
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(35-A)
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108. What is tho moan of the numbers 1, 2, 3, ..., 10

with froquoncios °Cp, 9Cy, °Cg «n ?Co

respectively ?

(a) 11x28
h 12x7
(¢) b6

(d) 065

The probability that a person recovers from a

discase is 0-8. What is the probability that

exactly 2 persons out of 5 will recover from the

discase ?

(a) 0:00512
(b) 0-02048
(c) 02048
(d) 00512

Suppose that there is a chance for a newly
constructed building to collapse, whether the
design is faulty or not. The chance that the
design is faulty is 10%. The chance that the

building collapses is 95% if the design is

faulty, otherwise it is 45%. If it is seen that

the building has collapsed, then what is the
probability that it is due to faulty design ?

(a) 010
(b) 019
(¢) 045
(d 0956
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(a) 1
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) ox 17
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© V3¢
1
() gt
@ .- 3¢ 31
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iy
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@ L
n
112, @ smfmg b 2
ﬁwa%aﬁsanmmg,w n
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maﬁrwwha,—mgﬁgggmwf (c) =
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(a) %
| 115.W%qaéaﬁ3(n,p),n=63m
1
(b et
1 @ 1
(C) ﬁ 4
1 ® 1
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4
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111. If r is the coefficient of correlation betw

and y,

between (3x + 4) and (- 3y +3)°?

(@ -r

®) r

© 3r
d -—+8r

112. A fair coin is tossed 6 times. What 1

een x

then what is the correlation coefficient

s the

probability of getting a result in the 6P toss

which is different from those obtained in the

first five tosses ?

7
(@) E
. 1
(b) 16
1
(© 39
1
@ 4
DFTK-S-MTH
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If H is the Harmonic Mean of three numbers

10¢,, 10y, and 10¢, then what is the value

of —%71—0- ?
(a 1

(b) %
(c) —i—%
@ o3

In a class, there are n students including the
students P and Q. What is the probability that
P and Q sit together if seats are assigned

randomly ?

(a) =
n
2
® 2
n
@ =
n
1
@ o

In a Binomial distribution B(n, p), n = 6 and

9P(X = 4) = P(X =2). What is p equal to ?

1
(a) Z
1

b X
® 3
3

(c) 'Z
@ 2
5
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T s /e
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' 45 a) e A
Three boys P, Q, R'and three girls S, T, U are to be|- . 5
arranged in a Tow for a group photograph. - ' ®) _2_ .
[ ) :
© g # y
116. What iy the probability fﬁat‘all_ three boys sit iy 5
. =5 7 s p ‘5’ v.;,.
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' = = -« A Gini s o L 20 th
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120. What is the

ol alternatively ? ..". 2, tOgether ? ki & S o - OF
' © 2 ‘ ST f
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